Simulazione di verifica

Periodo 1 - UdA 1-2

Frazioni (UdA 2)
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Numeri naturali (UdA 1)
4.4—-54+7—-12:2-3-4
(2-3—15:5:3)-4—(5-5—-2-11)—=8:(25:5—8:2)
(3-7—4-5):(3-3-2-4)—(16:8-5-9—-2:2)-(3-6+5)
2-3—116:2—(5-341):4]:(11—-3-3)
2.6 {5—9:(8:2—1)]-3—1}
(9-241)—[2-7-10:2]- {14 — 17— (10 — 4-2) - 7] - 4)
Numeri interi (UdA 2)
O+(—4)—7—(—6)+4+(—9)+2—(-3)

—(9:-3=5-5)4+(=7+3-3):(2—3)—(-2+5-5—-7-3)+(8—=5-2)

—12:(=2) = [=(=1)+3-5—4-(—246)] + (1 —3-3)
S (=24 1) = (=2) - [143-(—1+3)]+[1—2-(=T+3-3)]:(1—2)
S+ 2.{2.[-84(1—5)-(3—6)]—(3—2-5))
}-

—1—=12:(=1)]+{5+(—=4)- 10— (=2)- (=4)|]} - (=1-5+3-3)



SOLUZIONI
Simulazione di verifica  Periodo 1 - UdA 1-2
U IO I U R S U
o |8 9 9] 1 [10] 4 [|11] 7 [12] 1
14| =8 |15 =2 [16] 9 [17] 6 |18 -1
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